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MATHCEMATICS By Pradeep Sir

( C;?og'% A~ 2°d Q. 1)10 Five years ago, Somi's age at that time
x +5 20+ 5 was —rd of Amit's age at that time.
The respective ratio between Amit's age six
9D X S years hence and Somi's age twelve years
hence, will be 7: 4. What was Somi’s age three
, years a o? (in years)
e afa ad gd Whi @) 9§ wHg 9 9W s @)

Hx = 35

39 9HY &t 39 B UD-Idgrs ATl 3T | 6 9
wmihaaﬁwng‘azzﬁumw’maﬂw

&1 I 7 : 4 B ST 919 99 gd |t
aﬂwwg?@ﬁﬂ‘) E
(A) 13

@i

(D) 25




MATHCEMATICS By Pradeep Sir

xl+ =5 = 194 Q.2) If x* + x~* = 194,x > 0, then the value of
- (x—2)%is:
‘”"‘ t2 = lausy TR ¥ +x*=194x>08 @ (x—2)2 BT HH
A+ +as Iy + 9 (A) 1 (q+b)7‘: oy &4 a0
(i) = ¢ e (a-b) = Qb +£ -k

Q.I _j (C) 2 ()( q) .
@ \/

x~\41=-\ ~1 Y
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i @ Q. 3) There was 35 students in a hostel. The
Mew rawy > 0ldlnvg + choy, A~g # Tort 1. expenditure per day is in- creased by 42 due to the
SRl W ST A entry of 7 new students, while average expenditure
Fx = 89 IR N'cy l&€ per student is decreased by 1. What is the total
4 QO\ expenditure on food before the entry of new
students?
7 " wmﬁssmﬁmqﬁmmmﬁﬁaﬁ
wsﬁmﬁuﬁﬁ?%mﬁ ¥ 42 Bt gfZ g STl ©,
é{ waf iy o fwd @d ¢1 FH @ 9 ¥ @ W
%,/ SHR g wfafee g R wd e e
Rl CEONCES \
(C) 470 (D) 425
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Direction (Q. 04-07) : The given pie chart
shows the breakup of total number of the
employees of a company working in different

offices (A, B, C, D and E)

@o. of employees = 240@
f3u ¢ g9 W # TP HuAl & fafia srataal

(A9 E dP) H B S aTd $A SHATNGT DI
e &1 fdwu @®-em) uir w2l
HHATRA] DI P FSAT = 2400
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: €o %W
i )(TJ:; > &lyo 7Q Q. 4) What is the number of offices in which
the number of employees of the company is
P Ayronx 18 5 120 between 350 and 650?
e 70 I HUAT & FrATadl B GBI 1 8 oraH 350
IR 4 ¥ 650 & dg FHARI & 2
¢ )\i - &60 L (A)1
6 "/
6oy \Q\ B
PR o ©2
D @2
Ve By gy
N Y
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Q. 5) If the percentage of male employees in
office C is 20% and that of female employees
in E is 40%, then what is the ratio of the
number of female employees in C to that of
female employees in E?

gie $1aiad ¢ # Y39 SHAIRY! BT UTd=d 20%
g 94T £ ¥ Afger a9l &1 ufawa 40% 8, ot
¢ ¥ ufgen saial @t ¥@m iR E |
SULAIRGT B BT BT SJUTH FTE ?

(B)5:4
(C) 2:3 )ER:
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Q. 7) Find the ratio of the area of the sector

between the office B and C and the office D
and E.

Praied B 9 C 991 $1AIaY DI E S 7 Bsuwds
& A%l BT AU FId DI

(A) 4:5
ER

(0 493

(D) 6:7
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D= SXT ,
D . 2
T—:——é S' -r

& d

b

8:00

D =6 Kkm

Rs - ‘Sf'\m,a,
s T Ty

5

~S-
R+ 1P +13mim
9 IRM

Q. 8) A train starts from Delhi at 8.00 am &
reached Agra at 10 am. Another train starts
from Agra At 8.00 am & reached Delhi at

11.00 am. Find the meeting time?

TS ¢ foweit & gag 8 a1 gardl @ 3R 3TRT 10
g9l UgTd! 81 gERI ¢ 3TRT § YaE 8 a9t gereit
¢ 3R faweht 11 7o ugweht 81 1 31 & fre
&1 GHY [Td B ?

(A) 12: 9 am (B) 9:12 pm

\ D) 12:9
(OFZm)  @129pm
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EE :’_\Pf Q. 9) PQR is a triangle such that PQ = PR. RS

and QT are the median to the sides PQ and PR
respectively. If the medEans RS and QT inter-
sect at right angle, then what is the value of
(PQ/QR)*?

PQR 5 YHR &1 TP Ay« 8 f& P = PRBIRS
dYUT QT HH: YeI13il PQ YT PR W AASIY
¢ afe wIfer®1d RS TUT QT FHSIU W wfada
Pl g, @t (PQ/ QR)? T U FT R ?

32 @372

(C) 2 (D) None of these




MATHCEMATICS By Pradeep Sir

583Y—-x = 110

g 2\
- 110

1K

Q. 11) Find the largest number which when
substracted from 5834 then the obtained
number will be divisible by 20, 28, 32 and 35?
9% 9ad g1 @, ford 5834 # & weH R wid
U@ 20, 28, 32 am‘i_s_l_?[_ﬂ Td® Juia:
favifora gt 8, gkt 2

—

(A)1120 5 52 25,37

3x xS

" (0) 5200
(D) 5600
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Q. 12) The area of a rhombus is 96 square cm
and one of its diagonals is of length 12 cm.

What is the perimeter of the rhombus ?

UP AU &1 &THd 96 T cm & 3R 3HP
te fa@uf @t @@ 12em g1 SHEgUE &1
ufeaTT R S 2 A = JixJ'xOLz
(A)36cm

(C)44cm

(D) 48 cm
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a, Jo Q. 13) Amod invested an amount of ¥ 12,000 at the
rate of 10% per annum simple interest and another
amount at the rate of 20% per annum of simple
interest. The total interest earned at the end of one

'F&OD year on the total amount invested become 14% per

D

X2 annum. Find the total amount invested.

am’lznz,ooow%\mﬁ'a?mmma?ﬁﬁ'aw
. frar qur gt AR 20% aified @ | Faw fFan
ﬁ@ TP 94 & g P FaRE A w AR s @

% \afife ax 14% u11 I ﬁmﬂnﬁrﬁ%maﬁ
(A) ¥ 25,000 m

(C) 10,000 (D) ¥ 16,000
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Q. 15) What percentage of the numbers from

101 to 1000 have 9 in the unit’s digit ?

101 & BT 1000 dF F F@mt § fhas

ufa=ra S@I3il # P18 &1

(B) 12%
(C) 20%
(D) 15%

_’

3P 982
\-5
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Q. 17) An article is sold at profit of 30%. If

' >both cost price and selling price of the article

+2° 13 are decreased by ¥100, the profit now would

be 45%. The original cost price of the article is:

~ 1% =100 US a5 B! 30% P ATH UR 9971 91T 21 afg avg

& aTd Hed IR faspy gea 41 a1 € 100 |

a‘aﬁmaﬁn% a’tataamusesam%l I
295 %% %) aﬁg;aanmqu%v 207 €3

(A) ?400 (B) ¥ 250

9
/ = X&
(D) 500 &7 T
¥
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A. S
(R
L x

Ex+5
8xX+§

\/

£
'
[ =

X2

IEX +15 - 1¢x + 10

~—s

1° Q. 18) Ratio of two numbers A and B is 5: 8. If
- 5 is added to each of A and B, then the ratio of

A and B becomes 2: 3. The sum of A and B is:
3l HEait A 3 B BT 3=UTd 5: 8 21 4fe A 3R
BH I ud® H 5 ol faar &g, at A 3R B &1
AU 2: 3B AT 81 A 3R B BT U &:

e
%
213
o)

(A) 42 (B) 78
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)00

P= [o0xsh Q. 19) Ratio of principal and amount at certain
ol S| rate for certain time is 4: 5. After 3 years,
R= 129A5T T _ |ooxsp ) .
Pxt / - Px R ratio becomes 5: 7 at same interest rate. What
P a is rate of interest?

a1 1% WIYRY T $I [ R A [P v &
“ ferg e aut frsies 1 srquTa 4: 5 81 3 @
& 91 Ul O Pl ¥ | GAYUH U9 Ay &1

? ' AU 5: 7B AT 8| AT PIGT FTE ?
ST R @x’/ (A) 4% (B) 6%

| 3 ?
3¢ ‘Q"?‘/ @ (D) 7%
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" }é. Q. 20) The simplified value of

(7. 10t%7L)
9 (16 ' 10?.>(75) X1z 'S

7 7/—\3 4 7 1
(E‘E"fi) -1
TAPd 7 § -

\ 39

(A) 5 83
(€)= (D) =

; SO 3\ .
(ngsz)v
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Q. 21) Find the range for the fallowing

observation.
FafafEd varon &1 W 319 $ieie|

ltems

[requency)

(A) 10 E
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(a +b{_omCO) QSQC@)

Q.22)Ifa+btanf = secH,b —atanf =
(b- R tan)=(350c9)" ) 1ra+ btanf = sec

3secf,a? + b? =?

a.z-i-lpz{quq,.,._?% af¢ a + btan @ = sec, b — atan = 3sec &, @l

6= Sec?e

t y 2 -
b - Q «{qmzo__ {"“&Q:?&(zaa + b* =1

2
— (A) 9 @ o) =a% 2y 2o

2,,.2
A +t°v~}@(q7' !}j- SC@Q(‘M-! (qu)z‘_ q? +&%_ 20
Ry M 2:9/ (C) 3sec? 0

(2 ® (D) 8tan? 6 (@n‘a S&(@
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(o)

6-A - Q0D

5-8 - 24y

Q. 23) A, B and C can do a piece of work in 20, 24
and 30 days respectively. All three of them began
the work together but B left 3 days before
completion of the work. In how many days was the
work completed?

A, B AYUT C U B4 B HHT: 20, 24 4T 30 A1
R THA 1 A1 A R o1 ) yeama awa
€ g B 1 9uTW g1 9 3 37 ud ord 9 sigaw
e T 81 BT R R § g1 gan g 2

(A) 7 ®10
() 12 9




